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1. Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in

the Test Booklet or Answer Sheet, please get it replaced immediately.
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2. The Test Booklet contains 150 questions. Section I has 75 and Section II has 75 questions. Each
question carries 1 mark.
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3. The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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4. The Test Booklet is printed in four (4) Series, viz. El The Series, or or or El

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or or or @ in Part C on side 1 of the Answer Sheet by darkening the appropriate

circle with Blue/Black Ball point pen. Use of whitener is prohibited.
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Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.
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5.

10.

11.

12.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle 1s darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

08 [DED TMD DETERIE0e ASREDTD. oS! HOODHID Bare ISR VIFES DBS0S (DI
Bera005ED HBSORO PO 0 NODSS0. 8.5 PSR, e SFBS0OT VOVHS?, €3 DESTEBE0
DOBDODACEID. SEWI0M PYTP SOMP 1Y VOV axe/eRE erd HH00E DRV, FESS. WISHEY
R0 BT, JESE arct) VRPOBEHORO. aPEDS? DITFED DB HOBDODEWD.

e.g.: If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
€03 (DI, 30T, (B50003)5 1 & 2sa0e0 (2) ©90005:,,65 todR 3 (80O D50 HYOSSS

110/0|0|®

For each wrong answer 1/3™ of the marks prescribed for the question would be reduced.
58 BB e3°ed o8 JrDoND S0, 08" 1/3 Soe8), @0 SRoUBETTon.

Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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DEBEER DOBES0 DTGP D(BS0S S5802058° 98 HDOED0D2eS.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.
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AODEIS TR BIFS Qo BSTEeR H|EB0 HOBD0HESO.

Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
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DSTERD H|BS0 HDOBD0DVEEO.

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
RSPERBZNOD [PEDBSDP MHYOWTED. HAY eBEN0DFS |50 DONEB0IER0.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.

o[ Q0R 53@5358605&, neds/enh Sand), 30BS, ar LS HoEP ™Y S Je0S0E doHRE
DOBO0OR DEF, TSIV 9:0550B0S2IES0.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.
DOz D0 egpen DY Y ey SO (2% foeren) e0GESBw. DO S 28 DOJBOED
200306280 D0DVET0.

If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

9 959 00T DBoh/s0 DG §2@R8 [HADH0DHEONE &R eEAITIR0 VATV Ta,BEED
108 9T,

Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.
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Section -1

Scorpion venom contains toxins which are
(1) Proteins

(2) Vitamins

(3) Cyanides

(4) Alkalis

Which of the following is used in glass
industry ?

(1) Sodium Chloride
(2) Sodium Carbonate
(3) Sodium Bicarbonate

(4)  Sodium Hydroxide

Why does the sky appear blue ?
(1)  Absorption of light

(2)  Reflection of light

(3)  Scattering of light

(4) Dispersion of light

Article 14 of the Constitution which speaks
about Equality before law applies

(1) In deep space also
(2)  Within territory of India only
(3) Both on high seas and land

(4)  All the given answers are correct

Which article of the Constitution grants
protection from double jeopardy ?

(1) Article 16
(2) Article 21
(3) Article 22
(4)  Article 20

(4)

VES -1

Ben DNoeS’ &0l DN DI
1 PdSen

(2)  DeAQLD

(3) D&

4) eﬁvzyg)w
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95780 DVOTT DOV EJIDRS ?

(1) s°0d g0 bel)

(2) B°08 DTDEN0 O

(3) S°08 DOEDEI0 HY

4) S°08 DEDE0 HY
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6.

Which of the following statements is/are true ?
A. Indian Union is Federal.

B. In India the balance of power is towards
the Federation.

C. Indiais a Quasi-federation.

D. Indiais a Union with no Federal features.

(1) BandC
(2) AandB
(3) Conly
(4) Donly

Which article of the Constitution speaks about
duty of the State to raise the level of nutrition
and standard of living and to improve public
health ?

(1) Article 46
(2)  Article 47
(3) Article 48
(4)  Article 45
How many members are there from Lok Sabha

and Rajya Sabha (in that order) in the Joint
Committee on Offices of Profit ?

(1) 15,10
(2) 10,10
(3) 10,5
(4) 5,5

In the awards given at 20" e-Governance
Conference held at Visakhapatnam, who won
the sectoral award for digital transformation
towards transforming India ?

(1) NITI Aayog for Citizen Centric Serivce
(2) Andhra Pradesh for CORE

(3) MietY for MyGov

(4) Madhya Pradesh for State Pension Portal

(5)

80O’ & VBRI :

A. 26 000N 28 DEGS .blgbé).

B. 2°68 &5 e9O5E Dodowrdo SRS

2 &0tok.
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a
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(1) Q880 46

(2) Q880 47

(3) QO8G0 48

(4) Q880 45

(ArATA eV eI DAYV Qoodng
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(1) 15,10
(2) 10,10
3) 10,5
(4) 5,5
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10.

11.

12,

Which of the following is one of the features of
e-sampark ?
(1)  Online filing of Income Tax Returns

(2) Grievance redressal portal of

Government of India
(83)  Tourism portal of Government of India

(4) Sending of informational and public
service messages to citizens through
e-mail/SMS

In 2016, in the case of Youth Bar Association
of India (Yuva Nyavaadula Sangham), the
Supreme Court delivered a judgement that
except in certain sensitive matters, in all cases
copies of FIRs shall be

(1) Handed over to the person and relatives
within 24 hours of registration

(2) Uploaded to the police website/State
website within 24 hours of registration

(3) Filed in the Court within 24 hours of
registration

(4) Should not be revealed without the
permission of the Court

Match the following Five Year Plans with the
actual growth rates achieved :

Five Year Plan Actual Growth rate

I First Plan A 7%
II. Fourth Plan B. 6-68%
III. Eighth Plan C. 36%
IV. Tenth Plan D. 205%
(1) I-C, II-D, III-B, IV-A
(2) I-D,II-C, III-B, IV-A
3 I-D,II-C, III-A, IV-B
4 I-C,II-A III-D,IV-B

(6)

10.

11.

12.
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4) @05 /SMS SN DHOOLH
DATTEE  Do0dY, D 0D
208)0OH PDORTPLN DoNco

CID  TPHODTER DoY) SXweS’

2016€5° IR0 & z:°50§95°§>o SR

eféd.) &5° E) %0y a0 Do’

e‘éo.)bo::) HDD 0y gooes®  FIR

0 DD Bosred 2806 ?

(1) 026 B2 24 fotww &3 1538
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(2) 026 BDD 24 Hotrw S *0S
265 «)eS/U"oq &5 285 &5° &owed

(3) 026 523 24 Gobow> '3 € &
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€08 BN DoIDG PEFPSVRD T
Ea Mo JECANA 8@§ ¢ Bood :
003 Y JEFVS ALy edd dev
L G DErds
II. JPeisd PEPdS B
IIIL QD PEFPS  C.
IV. D¢ QEPPS D.
(1) I-C, II-D, III-B, IV-A
(2) I-D,II-C, III-B, IV-A
(3 1I-D,II-C, IlI-A, IV-B
4 I-C,II-A III-D, IV-B

A TT%
6-68%
3:6%
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13.

14.

15.

16.

17.

As per the monitorable targets of the 12th Five

Year Plan, what is the targeted percentage of
reduction of head count ratio of consumption
poverty over the preceding estimates ?

1)  30%

(2) 20%
3) 10%
4) 5%

What is the target recommended by the
Fourteenth Finance Commission for the
combined debt of States and Centre as
percentage of GDP ?

1 32%
(2) 42%
(3) 52%
4) 62%
The Arogya Raksha Scheme of Andhra

Pradesh Government is for

(1)  People below poverty line
(2)  People above poverty line
(3)  Poorest of the poor

(4) There is no link with income

The second major crop of cultivation in
Andhra Pradesh in terms of share in gross
value addition (GVA) is

(1) Tobacco
(2) Maize
(3) Cotton

(4) Sugarcane

What is the proposed GST rate on sugar ?
(1) Nil

(2) 5%
(3) 10%
4) 18%

(7)

13.

14.

15.

16.

17.

125 ‘&)ofé&ﬁg DEFYE ‘&36535§§ V(O
DSEAD, DA e35PS wogﬁmm
03 driead ac’qbe} ¢5° (head count ratio
of consumption poverty) $o¢d 9oL

083 Do F°ho égéej‘éb vé&ﬁ» ?
1) 30%

(2) 20%
(3) 10%
4) 5%

Sog, T°glPe BdEa0 Bdw $d e
65"95033‘539266 o Fho S5 GomrO
145 €598 20300 DFCdy BV0S 7

(1) 32%

(2) 42%
3)  52%
4) 62%

o8 DA% VAR Wby o Do
D583 53006 ?

(1) wbg% S QDD &) T°08

(2) wbg% S ADHID &) 308

(3)  Ec DBDBLLD

4) e8P0300eS° Doerocso ¢

Are Ded bo@/éagéé (GVA) e
O5°C0 30 VBT S° Bottd DD Dot
A& ?

(1) Drrd

(2) E‘b.)oézjé" é‘l
3 0

(4) WO

DOBEEE P VAIOS DR DO DAY
3t Dodh ?

1) Do
(2) 5%
3) 10%

4) 18%
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18.

19.

20.

21.

22,

Who is the present Director of FBI ?
(1) James Comey

(2)  Robert Mueller

(3)  Christopher Wray

(4)  Andrew McCabe

Recently, in which Indian’s case did the
International Court of Justice stay the death
sentence awarded by a Pakistan Court ?

(1) Kulbhushan Jadhav
(2)  Sarabjit Singh

(3) Ravinder Mhatre
(4) Kanwaljit Singh

Which is the heaviest rocket launched by
ISRO till date ?

(1) GSLV Mark IT D4

(2) GSLV Mark I D5

(3) GSLV Mark IIT D2

(4) GSLV Mark ITII D1

On what date in 2017 are next elections for the
post of President of India going to be held ?

1) 7% July

2) 17 July

(3) 27t July

(4) 7™ August

In which city did the Prime Minister attend
the 350 birth anniversary of Guru Gobind
Singh in 2017 ?

(1) Nanded
(2) Amritsar
(3) Patna

(4)  Anandpur Sahib

(8)

18.

19.

20.

21.

D.D.0. YRS ZBEE A ?
(D 3_’3533 50

(2 Ted B0wd

3) &6 3

(4)  e80g> D0ES°E

QABdL D OBOIVEE P
ao5omgvaa» DOODD  DBLIELD
eooeég’éo:i) a”zgojo‘gméo QenNcw
B00H ?

(1)  £e5283,0eh adrde

(2) 26B2S Dok

3) 6Dotsd Jrd

@) 3¢S Doh

‘QX)D& HBBL ISRO  HATHOID esej50é
LIBODD TS A6 ?

(1) GSLV moéz; I1 D4

(2) GSLV moéz; I D5

(3) GSLV moéz; I1I D2

(4) GSLV aﬁréb III D1

2017 ¢&§° O BBD TeS’AH G TROS
289 o ) e Ddsboaéomi& ?
1 7T

2 172G
3 278
4) 7808

(A}

2017 & QD DG HEEdRY D

BFDo&  Doh 3500 200 eehyd
S°c55gbo°i)§ FOC e e(ey ?

1) Jrod&

@) 20806

(3) ey

4)  e3508RPE Jaed
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23.

24.

25.

26.

What is the name of the Vice President of
Suriname who attended Pravasa Bharatiya
Diwas in Bengaluru in January ?

(1) Pravind Jugnath
(2) Ashwin Adhin
(3) Keith Vaz

(4) Praveen Jaypaul

Which film got maximum Oscar Awards in the

ggth Academy Awards function ?
(1) Moonlight

(2)  The Jungle Book

(3) The Salesman

(4) LaLaLand

Who is appointed as the Chairman of Cauvery
Water Disputes Tribunal ?

(1)  Justice Abhay Manohar Sapre
(2)  Justice Brijesh Kumar
(3)  Justice Swatantar Kumar

(4)  Justice Balbir Singh Chauhan

Which of the following Governments issued a
guest control order with effect from 01/04/2017

restricting number of guests at a wedding ?
(1) Maharashtra

(2) Rajasthan

(3) Haryana

(4) Jammu & Kashmir

(9)

24.

25.

26.

2050e° BobHrdS’ QoD EAOD
OOV O DRJD WOTL SIEEIS
DD A ?

1) DVod 2OHTSH
(2) @3 WO
3) 86 o8

4 OB IS

895 QIS°CaD YOI TV SE[E200eS° D
BOADGo W3OS eIY6 or§ ew
AL H0d ?

(1) B0PRGE
2 & 200 ens
3 & 5@63@5

(4) erer U°§o&

50 20 JTTO GefdS O PGS ™
DO Z)Q‘i)&’be‘.‘aoe)odrécb ?

(1) 2D 5ol 2836 vy
@ 20 OB Lard

(3) @R D(Botd LHr6

1) 220 )6 Dok TS

$oOTIS” D HFB0 DYYL DPREADy
WAL VoP[R  DOBo WA
01/04/2017 &00C 90VE’E DBy Dsorr
DO JoDoges 3BTV 2500 BDod ?

(1) &1);360‘@

(2) TR
()

(3) :Pm5a°

@) 200 & ?%&6
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27.  Which of the following cricketers was awarded | gm
the Sir Garfield Sobers Trophy as ICC Test
Cricketer of the Year, 2016 ?
(1) Ravindra Jadeja
(2) Ravichandran Ashwin
(3)  Virat Kohli
(4) Mahendra Singh Dhoni
28. Which of the following is prohibited by the
Mental Healthcare Bill, 2016 ? 28.
(1) Advance Directives
(2)  Suicide
(3)  Access to medical records
(4) Electro Convulsive Therapy for minors
29. Under My Ituka — My Amaravathi
programme, what is the cost per brick to be
met by donors ? 29.
(1) T 100
(2 T50
3 T20
4) =T10
30. While discharging his functions under
Section 8(3) of the Andhra Pradesh]|30.
Reorganization Act, the Governor has to
consult

(1) Council of Ministers of State of Andhra

Pradesh

(2) Council of Ministers of State of
Telangana

(3) Union Government

(4) Acts independently without any
consultation

8053:00¢5" D 888 Sorseds 2016
RoDBGY ICC BY §806 ™ 16 ™S
Qeaby g e233T0E00T D ?

1)  6Dog ader

(2)  GDBoYN @I
3 oS Eor

4) 0r0ed 2oh 8D

EoOTIS” BID ArdDE ey Dew,
2016 daGood ?

(1) 00 €383z

(2) 8BS

(3) P 05°dow ocoeren

@) 6 0L aog SIS BOD

T RS — T 9T°DD SEfE00 S0
w8 RNED TS IYoIDVVD Do
oed ?

(1) <100
(2) %50
3 <20
4) <10

08 VBT D6 355;5?89689 Stgo &S°D
OB o 83) ok B PRIV
DBQoBEDN (156 6 D50
RoDAOFE ?

(1) es0g VAT T°5) 008 2006d

(2) Borrer U"Zg:‘/&)o@ S00¢®

3) 8ogd g;e;beég;

4 DO DoPBOBLTe D BoZorr
OOTPOF
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31.

32.

33.

The report of Sivaramakrishnan Committee
constituted by the Union Government to find
out a new capital for Andhra Pradesh

(1) Made a firm proposal for a new capital

city
(2)  Suggested some loose options
(3) Did not make any suggestions

(4) Worked out the finances required for

capital

Why is asset division on the basis of
geographical location, disadvantageous and
unfair to the State of Andhra Pradesh ?

(1) Andhra Pradesh is not big in area but

population is more.

(2) The assets were inherited by Andhra
State from Madras State.

(3) The assets in Andhra Pradesh are
highly prone to destruction.

(4) Major economic assets built in the

united State are located in Hyderabad.

Which of the following organizations is not

considered by the Andhra Pradesh

Reorganization Act as part of reorganization ?

(1) Andhra  Pradesh  Public  Service
Commission

(2) Hindi Academy

(3) Andhra Pradesh State Information

Commission

(4) Telugu Academy

(11)

31.

32.

33.

808 DAT D JArSD TREPAD
(080T AS ol PEVBLo DTN BID
FITHERS S DO

(1) SS9 TR Siido (080w

RNV VAT B0k
2)  ED) N3 DAJBD B0k
(3) Qerod ‘?ob*’dobw Boged

(4) TR QU"éwbé
gpdo‘)éo Gsb E8Qo&
(A]

29200 G0R

FHVE o ST RO DoDLo
o A% TS dPmraEo,

OI°JO30 Dot 9.9\5:)_)2330& ?

(1) eogd YIT TH I
seEDP oo ava;w

(2) €508 ToROD TobD eV LR
050 006 SIS,

(3) €208 VBT S RO TBDROAS
QOG0 DE)D.

4) ooty S DBLodD

T°a0
WROVS’ LD erfo TErTerd

&S° €5 Q.

oodrdS” D DoRD  wog VAT
@aossafgsdm <0 :q;eodsgss?gsosaess
250t DO ?

(1) e0@ VAT DYE DO LN

(2) 0B 9seEdd

(3) @08 VAT T°F) DATT°E DN

4) e essvci,s)
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34. The 10" Schedule of the Andhra Pradesh 34.
Reorganization Act, 2014 contains a list of
(1) Corporations
(2) Heritage Buildings
(3) Financial Assets
(4) Training Institutes/Centers
35. Which of the following‘States of India has the 35.
highest installed capacity of solar power ?
(1) Rajasthan
(2) Tamil Nadu
(3)  Gujarat
(4) Andhra Pradesh
36. In which year was “Project Elephant”
launched in India ? 36.
(1) 1992
(2) 1993
(3) 1994
(4) 1995
37. Which is the largest tiger reserve in India in 37.

terms of area ?
(1) Kanha Tiger Reserve
(2) Bandhavgarh Tiger Reserve

(3) Nagarjunasagar — Srisailam Tiger

Reserve

(4) The Sunderbans Tiger Reserve

og B2 Q)bdszssb‘?gsdea &0, 2014
S°D 109 REFES DO @do
£OAG0t0d ?

1) SEyEadw
(2) a"d‘é)efes 23s9°e0
(3) e.ags 2900

(4) 36 DoRen/Sogren

g0 DYDY D TRS' S S
OBOE FOS A6 3 FgHw

&
&) O ?
(1) TR
(2)  SBP T°C
(3) HRo S

4) o DA%

N 7006393360 38 S° “@j’a&g 9085”0
FSoDotrdd ?

(1) 1992
(2) 1993
(3) 1994
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38.

39.

40.

41.

In India who is the authority to grant
approval for use of forest land for non-forest
purposes ?

(1) District Collector

(2) State Government of the concerned
State

(3)  Union Ministry for Environment and
Forests

(4) Forest Survey of India

Which genetically engineered crop is recently
cleared by GEAC as safe for human
consumption ?

(1) Brinjal

(2) Rice

(3)  Chickpea

(4) Mustard

Global warming would make the Indian
Monsoon

(1) Devastating and unpredictable
(2)  Good and predictable
(3) No change would be seen

(4) Tt is too early to predict

Over which of the following regions is the
major ozone hole of the Earth ?

(1)  Arctic region
(2) Antarctica
(3)  Equatorial region

(4) North America

(13)

38.

39.

40.

41.
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(1) 2 $0E6
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42, What should an ideal contingency plan for
disaster management contain, for
implementation by people ?
(1) A scientific method with technical
details

43.

44.

45.

(2) A computer model with series of flow
diagrams

(3) Simple language with basic information
and steps to be taken

(4) People may be allowed to design their
own plans when disaster strikes

When there is likelihood that lightning would
strike

(1) People should run away as far as
possible

(2)  People should stand still where they are

(3) People should take shelter under big
trees

(4) People should not stand under trees

Which is the central nodal ministry for
management of epidemics ?

(1) Ministry of Health and Family Welfare
(2)  Ministry of Water Resources

(3) Department of Biotechnology

(4) Department of Science and Technology

Which of the following is a man-made factor
for landslides to occur ?

(1) Engineered Construction
(2) Land use pattern
(3) Steep slope

(4) Seismic Survey

(14)

42.

43.

44.

45.
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46. Which of the following buildings would be 46.
likely to suffer less damage during an
earthquake ?
(1)  Building with big halls and few pillars
(2) RCC Building with long windows and
openings at the edge of pillars
(3) RCC Building with small windows and
openings away from the pillars
(4) The structure of the building does not
matter
47, The Super Cyclone which slammed Orissa in
1999 was with an approximate wind speed of |47,
(1) 60 to 100 kmph
(2) 110 to 170 kmph
(3) 180 to 250 kmph
(4) 270 to 300 kmph
48. If Alleviate is to Aggravate, then Elastic is to
(1) Malleable 48.
(2) Rigid
(3)  Soft
(4)  Drastic
) 49.
49. Find the odd one out.

(1) Quartz
(2) Diamond
(3) Ruby

(4) Pearl

235°E0D00 K)oe;ﬁboé')é@bcb & Sod

S A0OH 8 €9 evdsPB0 B D ?

(1D 33%6 bcg KJ‘%Q Foblelonth é&i)zjb
ROV QDA SLEDDOL

2)  PEDD/EG 888w Dot Hees’
PP KoLV SHEET™ DY
ROC $¢acsa

3) DY 883en 0003w FeeS® arrden
RIIAPSSUSISORN A le Pobbiey Q_)é‘l RCC
Sggcﬁaﬁ»

@) Jo7es 8E)BE Voot S
1999¢5° 2,0 OBRPOHBVEAD B
DY BT AT Jodh  DrfoS

&5&()0&?
1) Gotd 60 to 100 82

(2) (o> 110 to 170 82
(3) (502> 180 to 250 82

4) (0 270 to 300 820

Alleviate, Aggravate § €9000&3 Elastic QS

29800 ?
(1) Malleable
(2) Rigid

(3) Soft

(4) Drastic
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50.

51.

52.

53.

Find the next letter in the series :
A D HM,?

1 Q
(2)
3
4)

= »n =

Find the next number in the series :
10, 21, 43, 87, ?

(1) 175
(2) 174
3) 177
(4) 178

Find the next diagram.

* * O
O Xk oXe * X O
O <o * .

1 (® X0

(2 |eXO

3)

4) |O

Find the mean, median and mode of the
following numbers in that order :

1,2,3,4,5,4,3,5,4,2
(1) 3,35,4

(2) 33,33,3

(3) 33,35,4

(4) 3,33,3

(16)

50.

51.

52.

53.

AN VLTV JHDHS® DT DD
(BotsoC : A, D, H, M, ?

D Q
(2) R
3 S
4 T

QNS 0080 HHVS” SWTE I
(Botdoc: : 10, 21, 43, 87, ?

(1 175
(2) 174
3 177
(4) 178

[xlebPeilx] é:'.ﬁ‘) &S’ b%i) BodoC ?

] * o
O Xk oXe * X O ?
O <o ] °
*
1 |®Xo
o
2 |eXO
*
*
oXe®
(3) A
<
4) |OXe
*
Sod Doyfw 908 DOG0A,

D0G§IBEL  SOASW EXSTVFESD, 9B
HEHS” (hBocsod ?
1,2,3,4,5,4,3,5,4,2

(1) 3,35,4
(2 33,33,3
(3 33,35,4

(4) 3) 3'3, 3
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54.

55.

Ramu and Damu are friends. Ramu’s father’s
father is Hemu and Damu’s father’s mother is
Durga. Hemu and Durga are brother and
sister. Dilip is Durga’s only son and Radha is
Dilip and Radha are
married. What is Damu to Dilip ?

Hemu’s daughter.

(1) Nephew

(2) Cousin

(3) Son-in-law

(4) Son

Raghu is standing at a Bus Stop. He comes to
know that the buses would not run on that
day. He walks straight towards east for
5 kilometres and then turns north by taking
left turn and walks 3 kilometres on the bank
of a canal. Thereafter, he takes a right turn
and walks 100 metres to cross a bridge and
another 400 metres straight on the road. Then
he takes another right turn and walks
straight 3 kilometres to reach his home. How

far is he now from the Bus Stop on a straight

line ?

(1) 51km
(2) 5-5km
(3) 54km
(4) 11-5km

(17)

54.

55.

TPAL DO TP f’o()v:’b*’ejow. TP
Mg, Bo& O Bog AT, LA
Bog), Sod O SY . e
200030 WF, DTS Dbk
RFE0 wpTw. 60D gD w8 d
SO0, 0o, aur g, Era.
&9H Loty oo BPO(IERD. TP,
&S & DT ?

(1) 00D
2) €2

(3) @V
4 S

SN 0D PO DY GT°) €. RN &
Ber Odcido SO oddd 3dod.
VB By OIT SV 5 85" e
DED, A DHL  AOH, &Borr
3 35" 28 TOD gD DATCD.
BTG HE DD A, 100 o>
€0) D08 T8, 08 TS 400 Qe
B0 DY, WY& o DA
DL 80N 3 S BIYT HED
Qo3& BomeD. B VB ?;5)
DG R0 VOV BP Jod BrCoeS”

&%) ¢ ?

1 518..
@2 558..
3) 548..

4 115 8.50.



OWSA/555 (18)
56. If “” is addition, “)” is subtraction, “*” is 56.
division and “+” is multiplication, then

107(17)14+12+2 equals
(1) 64
(2) 44
(3) 660
(4) 665
57. Find the mode/modes of the following data :
Marks No. of Students 57.
50 10
60 20
70 40
80 20
90 5
99 10
(1) 60,70,80
(2) 60,80
3 170
(4) 75

7 VDB, “” eITPLIPSAD
“7 rsdn 0N VSIS,
IV 107(17)14+12+2 o ?

“(” S)"’&,Q,
Pobleloniy)

(1) 64
(2) 44
(3) 660
(4) 665
S0  STrodwL  erduFEsn(en)
00O ?
:uvco&w Qagg)e) X)o&JJ
50 10
60 20
70 40
80 20
90 5
99 10
(1) 60,70, 80
(2) 60,80
3) 170

(4) 75
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58. Which of the following are the youngest 58.

mountains ?

(1) Western Ghats

(2) Himalayas

(3) Eastern Ghats

(4) Vindhyas
59. The forests in Andhra Pradesh are mainly 59.

(1) Tropical Thorny Forests

(2) Tropical Evergreen Forests

(3)  Tropical Deciduous Forests

(4) Montane Forests
60. Where does the river Penna meet the Bay of 60.

Bengal ?

(1) Utukuru in Nellore district

(2) Krishnapatnam in Nellore district

(3) Kothapatnam in Prakasam district

(4) Through Pulicat Lake

61.

61. Silent Valley in Kerala is home for the largest

population of

(1) Leopards

(2) Bisons

(3) Lion-tailed Macaques

(4) Hornbills

62.

62. Deccan Plateau is formed mainly from

(1) Sedimentary rocks
(2) Sand stone
(3) Metamorphic rocks

(4) Igneous rocks

g0 IS DD 08 LD Doy
1IN DO ?

(1) DS 000

(2)  arAreoIreD

(3) efi?d)b S0

(4) Doc_szg DO

2308 VAT S°D i) VEEdore
(1) egmoczo boo% [ lete) (S0}

(2 e,gmoczo QDOHBTPOD esdwzge»
(3)  &RdocY @SJU@Q Tate)(3V)
(4)  A0PoE3S eacteHen

D) DO GG o areh0eS°
Eeod ?

(1) e 2’ ExtnET

(2) e 2gr & €000

(3) O B0RrS” EdDY 0

4) DO DB oz

SO¥S’D  DToeS 055 08 (o508
{Ooa)5e36 ) Z)a”:og%o ?

1) QBESHLVD

(2) 09D Cﬁ.)cé‘lw

(3) O HS 5°RY (Lion-tailed

Macaques)
(4)  3°6) DS Doew
669255
Ddb&oo&

DBBE PP AIHY

(1)  HED den
(2) RS Tra

(3) BrIroBS IV
4) Ny Jow
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63. The narrow channel of sea separating India |gq
and Sri Lanka is called
(1) Setu Samudram
(2) Adam Strait
(3) Rama Strait
(4) Palk Strait
64. In which of the following States is Simlipal | g4,
bio reserve located ?
(1) Orissa
(2) Jharkhand
(3) West Bengal
(4) Chhattisgarh
65. Out of the below, who were the first to enter to | 65.
India for trade ?
(1)  Dutch
(2)  Portuguese
(3)  English
(4) French
66. How many years after the Plassey War did the 66.
Sepoy Mutiny take place ?
(1) 50 years
(2) 75 years
(3) 100 years
(4) 125 years
67. Which Governor General introduced the office 67.

of District Collector ?
(1) Cornwallis

(2) Warren Hastings
(3) Wellesley

(4) Ripon

ES OOED FVoEVRD DEHBD VYD
ROV DaVotFdd ?

(1) NSO DAG0

(2)  e3Ga0 2OVOO

(3) TPA ROVVOO

4) 8 2Dod

o0& U"@oé‘5 PV L) ZIOISEa)0
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4) 125 “:ooaﬁébvw
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68. What was the reason for enactment of Rowlatt 68.
Act ?
(1) Perceived threat from revolutionary
nationalists
(2) To control vernacular newspapers
(3)  To control Indian National Congress
(4)  For constitutional reforms
69. Who out of the following opposed separate
electorates for Muslims in 1906 ? 69.
(1) AgaKhan
(2) Mahatma Gandhi
(3) Mohammad Ali Jinnah
(4)  Viceroy Minto
70. Why was Swaraj Party formed in 1922 ? 70.
(1)  Due to efforts of British to divide Hindus
and Muslims
(2)  Due to differences in Congress on entry
of Indians into Legislative Assemblies
(3)  Due to differences between Gandhi and
Subhash Chandra Bose
(4) Due to differences between
revolutionaries and Congress
71. Which of the following is also known as|71.

Mountbatten Plan ?
(1) Determination of boundary with Tibet
(2) Annexation of Burma

(3) Annexation of Princely States into

British India
(4) Indian Independence Act, 1947

SoeS &0 BONEEIS 526630 DD ?
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72.

73.

74.

75.

Why does the outside of a glass filled with cold
water become wet ?

(1) Due to condensation of water vapour in

the atmosphere
(2)  Due to diffusion of water through glass

(3) Due to propagation of water on the

surface of walls of glass

(4) The outside will not be wet

Into which colour will the yellow silver
bromide turn when exposed to sunlight ?

(1) White
(2) Grey
(3) Red
(4) Green

Why does open portion of a cut apple turn
brown when exposed to air ?

(1) Due to presence of iron in apple

(2)  Due to settling of micro dust present in
air

(3)  As the original inner colour is brown

(4) Due to oxidation of an enzyme present

in apple

Which of the following enzymes found in
saliva is responsible for digestion ?

(1) Maltase
(2) Pepsin
(3) Amylase

(4) Trypsin

(22)

72.

73.

74.

75.
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76.

71.

78.

79.

Section - I1

How much amount is paid as incentive by
Government of Andhra Pradesh to a couple in
case of inter caste marriage ?

(1) ¥ 2,50,000

(2) ¥ 1,00,000

(3) ¥ 2,00,000

(4) ¥ 50,000

How much amount is allotted by the
Government of Andhra Pradesh in the Budget
for 2017 — 18 for rehabilitation of Jogin women
through APSCCFC Ltd. ?

(1) ¥ 1 Crore

(2) ¥ 2Crore

(3) ¥ 5Crore

(4) ¥ 10 Crore

Up to how many units of electricity would
Social Welfare Department of Government of
Andhra Pradesh pay electricity bills in case of
Scheduled Caste/Scheduled Tribe households ?
(1) 50 units

(2) 75 units

(3) 100 units

(4) 0 units

What is “OBMMS” ?

(1) Other Backwards, Muslim and
Minorities Scheme

(2) Online Boarding Monitoring and
Management System

(3) Online Beneficiary Monitoring and

Management System

(4) Old aged, Backward, Muslim Minority
Scheme

(23)

76.

71.

78.

79.

VES - 11T

LHerod8 Darsro WS ol e HA3
QIS0 BoDBOVLH  Wod  Dwdo
gf@“b:a"SoW 90058008

(1) < 2,50,000

(2) ¥ 1,00,000

(3) < 2,00,000

(4) ¥ 50,000
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80. Which is the first State to pass an Act on|g0.
planning, allocation and utilization of
Scheduled Caste and Tribal sub plans ?

(1) Kerala

(2) West Bengal

(3) Tripura

(4) Andhra Pradesh

81. What is the percentage of subsidy granted by
Government of Andhra Pradesh to Scheduled |81.
Caste youth under the scheme of purchase of
four-wheelers (like Toyota Innova or Tata
ACE) on loan from APSCCFC Ltd. ?

1)  25%
(2) 35%
(3) 40%
4) 50%

82. Into how many broad heads can the
constitutional provisions for upliftment of
Scheduled Castes be grouped ? 82.
1 3
2 4
3 5
(4 6

83. Which article of the Constitution prescribes 83

that Hindu religious institutions of public
character shall be open to all classes and
sections of Hindus ?

(1) Article 28
(2)  Article 27
(3) Article 26
(4)  Article 25

DEFES  DUrU/BV &D  PEFEPSOD
020000 HEFPIS® SIS, S0,
DAL fgbleleT) RIS AT
Q00D oo A6 ?

(1) 8o¥
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84.

85.

(25)

Which of the following statements is correct ?

II.

(D

(2)

(3

(4)

SC/ST employees promoted earlier than
their counterpart in general category by
virtue or reservation shall be senior to
general in the

category promoted

scale/post.

Seniority is determined at the entry

level and irrespective of time of

promotion, a senior is always senior.

I is correct and II is wrong

I is wrong and II is correct

Reservation policy varies from

Department to Department

Reservation policy varies from State to
State

The right to conserve distinct language, script

or culture is mentioned in this article of the

Constitution :

(1)

(2)

3

4)

Article 29

Article 350

Article 350A

Article 351

84.

85.

800 °JS5° D& DBHO ?

II.

(1)
(2)
3
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86. Which of the following is one of the economic | ga
safeguards provided by the Constitution for
Scheduled Tribes ?
(1) Scholarships to ST students for study
abroad
(2)  Health facilities for ST population
(3) Grants-in-Aid to specified States covered
under 5% and 6" Schedules
(4)  All the given answers are correct
87. The National Commission for Scheduled
Tribes was established through a
(1) Government order
(2)  Cabinet resolution 87.
(3) Statute
(4) Constitutional amendment
88. For the purpose of inclusion of a tribe under
the Scheduled Tribes, apart from others, who 88
amongst the following has to give consent ? )
(1) Supreme Court
(2) High Court of the concerned State
(3)  Registrar General of India
(4)  Anthropological Survey of India
89. What is the tenure of the Chairman,
89.

Vice Chairman and members of the National
Commission for Scheduled Tribes ?

(1) 2 years
(2) 3years
(3) 5 years
(4) 6 years

$oOTIS” & TERjorio, DETYS Brfe)
8 908 BES LD EDYoDD T’
2088 ?
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2 )
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REFES Bfo AL SRS D B
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90.

91.

92,

What Public

Information Officer for providing information

is the time limit to the
to an applicant, when his life and liberty are
under threat ?
(1) 24 hours
(2) 48 hours
(3) 72 hours

(4) One week

What is the time period till which Lokayukta
or Upa-Lokayukta can investigate into any

complaint on an allegation under the Andhra

Pradesh Lokayukta Act ?

(1) 3 years from the date of the alleged
event

(2) 4 years from the date of the alleged
event

(3) 5 years from the date of the alleged
event

(4) 6 years from the date of the alleged

event

The Chairman of the National Human Rights

Commission has to be
(1) Former Judge of Supreme Court
(2)  Any Judge

(3)  Former Judge of Supreme Court/Former
Chief Justice of a High Court

(4) An eminent jurist and need not be a
judge

(27)

90.

91.

92,

Sreasind 208050 DLy DAPG0eS° DED
28 O58 dArTdo S0 PR BY
Do SVDHDRS” DI VITTE VOO
RIAFTTA) B8 0¢3&a3rd ?
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93. If a person wants to set up a minority 93
educational institute, out of the following,

whose permission is mandatory ?
(1) National Commission for Minorities
(2) Department of Education of the
concerned State Government
(3) National Commission for Minority
Educational Institutions
(4) District Educational Officer
94.
94. Who is the present Chairperson of the
National Commission for Women ?
(1) Lalitha Kumaramangalam
(2) Girijja Vyas
(3) Rekha Sharma
95.
(4) Sushma Sahu
95. What is the term of the Comptroller and

Auditor General ?
(1) 5 years

(2) 5 years except in cases where 65 years
age is attained, the term ends before

5 years
(3) 6 years

(4) 6 years except in cases where 65 years
age is attained, the term ends before

6 years

]
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96.

97.

98.

What is the meaning of “Dowry” under the
Dowry Prohibition Act ?

(1) Cash or Jewellery or land given directly

(2) Cash or Jewellery or land given directly
or indirectly

(3)  Any property or valuable security given
directly or indirectly

(4)  Any property or valuable security given
directly

Under the Panchayats Extension to Scheduled
(PESA) 2011 framed by
Government of Andhra Pradesh, who would

Areas Rules,

discharge the functions of village market
committee in scheduled areas ?

(1) Gram Sabha

(2) Village Panchayat

(3) Panchayat Secretary

(4) Market Committee elected by Gram
Sabha

Under the
Rehabilitation of Bonded Labour, 2016, what

Central Sector Scheme for
is the amount of compensation fixed in

extreme cases involving deprivation or

marginalization such as trans-genders or

women or children ?
(1) ¥ 20,000

(2) ¥ 1,00,000

(3) ¥ 3,00,000

(4) ¥ 5,00,000

(29)

96.

97.

98.
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(2) ¥ 1,00,000
(3) ¥ 3,00,000

(4) ¥ 5,00,000
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99.

100.

101.

Under the Scheduled Tribes and Other
Traditional Forest Dwellers (Recognition of
Forest Rights) Act, 2006, who is the authority
to initiate the process of determining the
nature and extent of individual or community
forest rights ?

(1) Village Panchayat

(2) Mandal Praja Parishad

(3) Gram Sabha

(4) District Collector

Under the Commission of Sati (Prevention)
Act, 1987, maximum term of imprisonment for
glorification of Sati is

(1) 1year

(2)

3 years

(3

5 years

(4)

7 years

Which of the following is not a function of the
National Commission for Safai Karmacharis ?

Distribution of relief amounts to Safai

(1)

Karmacharis

(2) Evaluation of

implementation  of
schemes for Safai Karmacharis

3

Investigation into the complaints on
non-implementation of measures for
upliftment of Safai Karmacharis

Suo motu action in case of

(4)
non-implementation of schemes of

upliftment of Safai Karmacharis

(30)
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(31)

102. Under the Protection of Civil Rights Act, the
following would not be an offence under
“untouchability” :

103.

104.

105.

(1)

(2)

3

4)

Refusing to sell goods in ordinary course
of business

Refusing entry to a private temple
where entry is allowed to all

Unlawful compulsory labour of removing
a carcass

None of the given options is correct

The Constitution is a

(D
(2)
3
(4)

Foundation law
Derived law
Common law

Divine law

Which resolution of the Constituent Assembly
later on took the form of the Preamble ?

(1)
(2)
3
(4)

The Utility resolution
The States resolution
The Objectives resolution

The Draft resolution

Which of the following bills was returned by
President K.R. Narayanan ?

(1)
(2)

3
4)

Postal Bill

Bill on Pension to MPs even when their
term is only one year

Defence of India Bill

Press Bill

102.

103.

104.

105.
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“e90800°De300” 06

DB DOHEIoDLIEED ?

(1)

(2)

3)

4)

DEODTPEE S pedesorr
0l DRPPW  JgowosstAS
QUeEB0cIt0

@08 ODFo &) RIS
Boroosrg’ KO DoeEdocscio
2oy SFRTY) VMol DA B
SIBBEOTT LIVDOBHTT LA
PRGNSR SRS S (ST SN
203G 524D

U°as°5o($o 28

(1)
(2)
3)
4)

53O aewoo
@5933‘63. :ﬁggo
JeeSed &0
BISG 580

Toesgort R AB0E), A éc%x)o, SETD
S0 QD™ ErIDY
20900t 0L0H ?

(D
(2)
3)
(4)

QErRd Som o
oo éc%éo

e)w;zge)/ GRT(R e‘.’ao%;éo
B0V ém&éo

$oOTIS” ) Doy THRDA
8.6, TTARD BDY Do ?

(1)
(2)

3)
(4)

536{86 Dew

28 DVoDBNG o DA &dY
TG0  VOD T DI
S@boa 2:)%’)3

ePG Ggea D

D@ Ded



OWSA/555

106.

107.

108.

109.

110.

If the Lok Sabha is dissolved
D
(2)

President can act on his own

President acts on advice of the Rajya
Sabha

President acts on advice of Chief Justice
of India

3

President acts on advice of Council of
Ministers

4)

The Republic of India is a
(1)
(2)
(3)

Result of agreement between States
Forced Union

Result of declaration of will of People of

India
British controlled dominion

(4)

The Constitution uses this term to describe
the Centre :

(1)
(2)
(3)
(4)

Union
Centre
Central Government

Central and Union Territories

Who was elected as the President of the
Constituent Assembly ?

(1) Dr. B.R. Ambedkar

(2) Dr. Babu Rajendra Prasad
(3) Dr. Sachidananda Sinha
(4) Jawaharlal Nehru

Picture of which animal is present on the seal
of the Constituent Assembly ?

(1)
(2)
3
(4)

Peacock
Swan
Lion

Elephant

(32)

106.

107.

108.

109.

110.
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111.

112.

113.

114.

115.

Which of the
“Untouchability” ?

(D
(2)
3)
4)

following defines

Article 23 of the Constitution
Article 17 of the Constitution
Protection of Civil Rights Act, 1955

None of the given options is correct

The goal
establish

(1)
(2)
(3)
(4)

of Directive Principles is to

Free State
Capitalist State
Welfare State
Socialist State

Which
representation in Rajya Sabha ?
(1)
(2)
(3)
(4)

of the following does not have

Lakshadweep
Delhi
Pondicherry

All the given answers are incorrect

On what grounds can the President of India be
impeached ?

(D
(2)
(3)
(4)

Corruption
Misbehaviour
Violation of the Constitution

All the given options are correct

Out of the following, who is not a part of the
Union Executive ?

(1)
(2)
3
(4)

President
Speaker of the Lok Sabha
Vice President

Comptroller and Auditor General

(33)

111.
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116.

117.

118.

119.

Which of the following resources are credited
to Consolidated Fund of India ?

(D
(2)
3
4)

Union Taxes only
Contributions from Centre and States
Public Deposits only

All revenues, borrowings and receipts on
repayment of loans

The salaries of judges of High Court and

Supreme Court are charged to
(D
(2)
(3)
(4)

Consolidated Fund
Special Budget Fund
Amalgamated Fund
Contingency Fund

In the absence of Speaker or Deputy Speaker,

who chairs the Joint Session of the

Parliament ?
(1)
(2)
3)
4)

Chairman, Rajya Sabha
Prime Minister
President

Deputy Chairman, Rajya Sabha

The principle “All are equal before law”
mentioned in Article 14 of the Constitution

applies to
(1) Non-citizens
(2) Prime Minister
President

3

Governor

(4)

(34)

116.

117.

118.

119.
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120.

121.

122,

123.

124.

If a party has 100 legislators (MLAs) in an
assembly, as per anti-defection law, how many
members are required to create a break-away
faction without attracting disqualification ?

(1) 30
(2) 33
3) 34
(4) 35

Union Public Service Commission was

established in the year
(1) 1950
(2) 1951
(3) 1952
(4) 1956

How many Anglo-Indians can be nominated by
the Andhra Pradesh Governor to the State
Assembly ?

1 5
2 3
3 2
4 1
Who can proclaim President’s rule in Jammu
& Kashmir ?

(1)
(2)
(3)
(4)

President
Parliament
Rajya Sabha

Governor of Jammu & Kashmir

If a person is convicted under the SC, ST
(Prevention of Atrocities) Act

(1)
(2)
3

He can contest in elections
He cannot contest in elections

He can contest after expiry of specific
period after conviction

4)

It depends on his choice

(35)

120.

121.

122,

123.

124.
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(1) 30

(2) 33

(3) 34

4) 35
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125.

126.

127.

128.

The creation of All India Services is prescribed
in the Constitution in

(1) Article 310

(2) Article 311

(3)
(4)

Article 312
Article 313

Election Commission of India derives its

powers as per the following article of the
Constitution :

(1) Article 321
(2)
(3)

(4)

Article 322
Article 323

Article 324

How many languages are recognized by the
Constitution of India in the Eighth Schedule ?
(1) 18
2 21
3 22

(4) 24

Which State was under President’s rule for

the longest period ?
(D
(2)

Punjab
Uttar Pradesh
Kerala

3

(4) Nagaland

(36)

125.
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127.

128.
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129.

130.

131.

132.

What is the method of election of members of
the Rajya Sabha ?

(D
(2)

Direct Election

Proportionate representation through
single transferable vote

3

Proportionate representation through
multiple transferable votes

4)

Quota system

Which is the first case in which Supreme
Court explicitly stated that Judicial Review is
part of Basic Structure of the Constitution of
India ?

(D
(2)
3)
(4)

Keshavananda Bharati
Raj Narain
S.P. Sampath Kumar

Minerva Mills

Judicial Activism arises mainly because
(1)
(2)

Judges want to show their supremacy

Citizens become hyperactive about their

rights
(3)
(4)

Failure of Legislature and Executive

Populistic tendencies of Judiciary

Which of the fundamental rights are available
to non-citizens ?

(D
(2)
3

Right to Life and Liberty
Right to Freedom of Expression
Right to form Association

(4)

All the given options are correct

(37)
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133. Who decides the number of judges in the High | g4

Court ?

(1)  Union Cabinet

(2)  Prime Minister

(3) Governor

(4) President

134.

134.

135.

136.

Which of the following is/are example(s) of
National Integration ?

(1) All India Caste Associations
(2)
3)

(4)

All India Religious Associations
All India Services

All the given options are correct

Which articles of the Constitution of India
deal with Centre-State relations in legislative
matters ?

(1) Articles 245 to 255
(2)
3)

(4)

Articles 244 to 255
Articles 245 to 253

Articles 241 to 251

The GST regime

(1)

Enables States to be equal partners with

Centre on tax matters

(2)

Pushes States to a secondary role in tax

matters
3)
4)

Does not alter the existing relations

Enables
independently

Centre and States to act

135.

136.

GO YOS TgoRBRGR
R0 DOH GO ?

(1) Sog H0oBotd

(2)  QE°d08B

(3) (56)6

4) DS

<

o°

®

oOTIS" DO  FBAH DAL
ETOPCEd ?

1)
(2)
(3)
4)

9D PG K0 VODIPLD
9P PG 0 VoI
Do 6B VO

RO DITPTTO) DJID

TOD oo woweds  Sog, oy
Do2orrw O aﬁ:b TreRgol1iD)
OEEEFPL DD ?

(1) 245 Q00 255 HBL (0 OEBETLD
(2) 244 A00C 255 DO (0 VQEGETLD
(3) 245 A00C 253 DO o VOEGETLD
(4) 241 SO0 251 HBL Ko OEBETLD

SISVESIVIRCEV\IRVIEVSIN ST
(1 DIy o30S T Eree
ogo & DITD GAALAOLB0

(ST ATONIYA)

@) D0) DHo3rees TP

BLBOD TG et

(3)  DROBLY K0GOS’ HFEy D

oG

(4)  So@o, T°o D{BoGorr

DEOEPOF AN
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137.

138.

139.

Which of the following is not a function dealt
by Union Public Service Commission with
regard to various services of the Union ?

(1)

Framing and amending of recruitment

rules for services of the Union

(2)

Disciplinary cases of various Union

services

(3) Advising the President on matter

referred by him
(4)

Conducting Departmental examinations

The Finance Commission of India deals with

(D

Sharing of taxes between Centre and

States
(2)
3)

Sharing of revenues between States

Sharing of investment between Centre

and States

(4)

All the given options are correct

In the Parliamentary procedure, a motion is
a/an

(1)

Informal proposal by a member to

adjourn business

(2)

Formal proposal by a member to adjourn

business

3

Formal proposal by a member to do

something permissible

(4)

Informal proposal by a member to do

something permissible

(39)

137.

138.

139.

8oATIS’ A& Bomrdd BodD DA
R8O VD DoeoGow), CRTEAADNS DY
ROR ENRD B2 DY T ?

(1 Bog RO oS Ddasrdug
DOHITL  EFDEND  DB0%L
IS Pelelx’

2 DD Bog DD o Ay
E03E£ Soew

3) TROD 9&AD Dyosrees’

()
230300 HdTbe evododcio

4 DeFrOSOD DOLORL JB(rotscio

EhTolx) Ugé Voo & DOV
2022000 DA Wod ?

(D
(2)
3
4)

Sog, TalPe G DRV) © DoDdLo
TPl 06 BRI oo

&
Sog, ToalPe H0as dEW.IE DodSo
AN DIAPTTO) DJID

JOADA0LO  JADITIVS” dDHRD
(éw&ém) 9063

9655@3"0«63 TPONT® DONTPIS
ADVOBR VB FOoTe 28
QI BY BTG

S°<55Se3°3°e)m TPONT® DOTIS
JV0GRY VAT wE DK
BD DAIASD

QBT 9BoDBANG BoDTIS
JV0BRY VAT wE DK
B DAIED

QBT 9BoDBANG BoDTIS
SVOGR VD Tot 8
QI BY BTG

(1)

(2)

3

4)
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140. Which is the force that moves the machine of | 4.

democracy ?

(1) Majority rule

(2) Rule of law

(3)  Electoral system

(4) Wisdom of people

141.

141.

142.

143.

Who initiates the process of appointment of
Chief Justice of a High Court ?
(1)  Chief Minister of the State

(2)  Outgoing Chief Justice of the High

Court
(3)  Chief Justice of India

(4)

Union Law Secretary

Who moved the Objectives resolution in the
Constituent Assembly ?

(1) Jawaharlal Nehru
(2)
3)

(4)

Vallabhbhai Patel
K.M. Munshi

Dr. B.R. Ambedkar

What is the amount (in rupees) paid per a
Scheduled Caste/Tribe

candidate under

the NTR Vidyonnathi Scheme to a
private coaching institute for Civil Services
Coaching ?

(1) 170,000

(2) 50,000

(3) 1,00,000

(4) 2,00,000

142,

143.

QIR0 0o DED 3§ & 7
EE Vo LR D
HELISIOD FPOD

e Q—
aaggu 35535{3
D2 ddgo/ o NINEY

(D
(2)
3)
(4)

GG TODFD PERO ToATY
QoIrnE PO DD FEoDIED ?

(1)
(2)

TR Q0003

DEJDHE  BRRJDY &S
OO DT T30

oo LR SIAINIES M(C eIt b o)
Sogd JejaRTY S°EIE30y

(3)
4)
oeegors DONBS ‘UE§R @Uf’émi)‘l”
56> LBFDEPE ?

(1)
(2)
(3)
(4)

203°0erS e
DD DS
5.8, 0

o, 9.e86. @083 6

2S5 :’06555 DO8H 80 §6LH 28 2;.3;535

RIPE™YES € NTR 38&6&8 DEo 3o
(A

oT) Z)c:‘ngé Ho /3% 99?5585 Qoh

Qdo (BrJroHoS”) 3D ?
(1) 70,000
(2) 50,000
(3) 1,00,000

(4) 2,00,000
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144. How much percentage of marks are to be|144.

secured by a candidate in his Degree or PG (as
applicable) to be eligible under Ambedkar
Overseas Vidyanidhi Scheme ?
(1) Cut-off system is followed
(2)  50%
(3) 55%
(4) 60%

145. Approximately, how much amount was paid as 145

compensation to tribal coffee growing farmers )
of Visakhapatnam district for loss due to
Hud Hud Cyclone (choose nearest figure in
Rupees Crores) ?
(1) 100
(2 179
3) 29
4) 9

146. What is the lower age limit for persons
belonging to PVTG (Particularly Vulnerable 146.
Tribal Group) for availing old age pension ?

(1) 55years
(2) 50 years
(3) 58years
(4) 60 years
147. Out of the following, which tribal religious |47

festival was declared as a State festival during
2016 ?

(1)
(2)
3
(4)

Sri Sri Sri Modakondamma Talli Jatara
Sri Sri Sri Talupulamma Talli Jatara
Sri Sri Sri Tirupatamma Talli Jatara

Sri Sri Sri Mavullamma Talli Jatara

008 6 L6 DD DTG Do Socs
S Vo Qom0 28 o8 83 &f
& PG 8L dodh Fdho o) 0 £9A
&oe® ?

(1) S65 8D DY VADOF

(2) 50%

(3) 55%

(4) 60%

OO VS TR0 Dy AHRT°00R
DTPDV0 BY® HORD T FBOOD
DodDd  APDBDEGo KA Jodd
(8 drdraped” D d0gedy

28) Do) ?
(1) 100

(2 179

3 29

4 9

PVTG Q05808 Rodd Adaven
DFTD; PR TS o D
JSATFHODA 0L ?

(1) 55 ZD%O

(2) 50 ZD%O

(3) 58 DW@

4) 60 Dv;oo

EoOTIS” D AORD TPOLE &INTDY
201685° T°F) &9 Do HEBOTED ?
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148.

149.

150.

Under the Ambedkar Overseas Vidyanidhi
programme, in which of the following
countries can PG and Ph.D. studies be
pursued ?

(1) USA, UK, Australia,

Singapore

France and

(2) USA, UK, France, Italy and Netherlands

(3) USA, UK, Australia,
Netherlands

Canada and

(4) USA, UK, Australia, Canada and

Singapore

What is the annual family income limit (in
rupees) for a Scheduled Caste student to avail
post-matric scholarship ?

(1) 1,00,000
(2) 2,00,000
3) 2,50,000
(4)  5,00,000
Which organization implements the

rehabilitation of bonded labour scheme in
Andhra Pradesh ?

(1) SERP (Velugu)

(2) District Lead Bank of the concerned
district

(3) Andhra Pradesh Scheduled Castes

Cooperative Finance Corporation Ltd.

(4) District Industries Centre

(42)

148. 9.‘)08_3@256 éuéébi) Dw&b@ DGEo 308

PG $3080500 PhD €96:) o0& &)Y A
B0’ BSEIPEVDEIND ?

() o8, YOS, wRDB», IRy
200050 2oHPE

(2 oo, POS, POy, wwd
200080 deToby

(3) o, YOS, wRdasr, Sd&e
2000320 DESToby

S

(4) o5, DS, esfeo)@odr,
208050 DoHTE

149. DEF(S HrO Ior® PSS BT S

€99
DOD

e:os"déémbi Doreerots
58008 a"g?wo:b
(85°ro30e5°) doeh ?

(1)  1,00,000
(2)  2,00,000
(3)  2,50,000
(4)  5,00,000

150. @05 VBB & IR0 DITTVYD

DES0 D VoY W B ?
(1) SERP (dewtd)
@ 2y O& erjos

(3) APSCCFC ®o&&
3.)635"52@5 gHere)
9836:15 DEBE )

(308 OB%

LYo icile! esgs

4) 2P DBFVL Sodw
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